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QUESTION 1
What are the five ALM imperatives?

A. Lifecycle Traceability, Mean Time to Failure, In-context Collaboration, Development Intelligence, Continuous Process
Improvement

B. In-context Collaboration, Working Software, Real-time Planning, Lifecycle Traceability, Continuous Process
Improvement

C. Real-time Planning, Lifecycle Traceability, In-context Collaboration, Development Intelligence, Continuous Process
Improvement

D. Continuous Process Improvement, Secure by Design, Real-time Planning, Lifecycle Traceability, Development
Intelligence

Correct Answer: C

QUESTION 2

Which ALM imperative improves a team\\'s ability to connect with each other, to respond to changing events, and to
improve project predictability?

A. Real-time Planning

B. Lifecycle Traceability

C. In-context Collaboration
D. Development Intelligence

Correct Answer: C

QUESTION 3

In RQM version 3, what can have execution records? (Choose two.)
A. Test Plan

B. Test Case

C. Test Suite

D. Test Script

Correct Answer: BC

QUESTION 4
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Which three actions can be performed when reviewing a Rational Software Architect model that has been published to
Rational Software Architect Design Manager? (Choose three.)

A. annotating a diagram in the published model

B. changing the color of a model element that is believed to be incorrect
C. initiating an in-line discussion about the structure of a class

D. adding a comment concerning the package structure within the model
E. creating a copy of the model and modifying the package structure

Correct Answer: ACD

QUESTION 5

What is the maximum amount of Developer for Workgroups Starter Pack users allowed per licensed server?
A. 10 users

B. 1 user

C. 50 users

D. 2 users

Correct Answer: A
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